Geometry Homework Day 2 Name \A@Ml
7.4 Special Right Triangles )

Find the value of each variable. Write your answers in simplest radical form.
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7. g |8, Solve for x (exact answer). Also find
L the perimeter of the entire figure.
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9. An altitude of an equilateral triangle is [10.  The altitude of an equilateral triangle is
6 inches. What is the area of the 12 cm. Find the perimeter of the
triangle? triangle. Round to the nearest tenth.
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11.  The length of the diagonal of a square | {5

is 10 meters. What is the perimeter of
the square?
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The diagonal of a square is 5\/5 cm.
What is the area of the square?

windshield are the ends of the wipers?

A car is turned of f while the windshield wipers are moving. The 24 inch wipers stop,
making a 60° angle with the bottom of the windshield. How far from the bottom of the
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